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PRACTICE PAPER (2021-22) 

CLASS : XII 
SUBJECT: GEOGRAPHY (029) 

le; % 90 feuV vf/dre vad & 35 
Time Allowed : 90 Min. Maximum Marks : 35 
lkekU; funsZ'k& 

1- iz'u i=k esa 3 [k.M gSA (d] [k vkSj x) 

2- [kaM d esa 24 iz'u gSaA fdUgha 20 iz'uksa ds mÙkj nhft,A 

3- [kaM [k esa 24 iz'u gSaA fdUgha 20 iz'uksa ds mÙkj nhft,A ekufp=k vuqHkkx (iz-la- 

25&29) vfuok;Z gSA 

4- [kaM x esa 12 iz'u gSaA fdUgha 10 iz'uksa ds mÙkj nhft,A [kaM x dk igyk Hkkx 

(lzksr vk/kfjr iz'u esa 4 iz'u iz-la- 49&52 fn, gSa) vfuok;Z gSaA 

5- lHkh iz'uksa ds vad leku gSaA 

6- dksbZ udkjkRed vadu ugha gSA 
General Instruction: 
1. The question paper contains three sections (A, B and C) 
2. Section A comprises of 24 questions. Attempt any 20 questions.  
3. Section B comprises of 24 questions. Attempt any 20 questions.  (Map 

section (Q.No. 25-29) is compulsory. 
4. Section C has 12 questions. Attempt any 10 questions. (First part of Section-

C (source based has 4 questions i.e.Q.No.49-52) is compulsory. 
5. All questions carry equal marks. 
6. There is no negative marking. 

************** 
[k.M&d (Section-A) 

bl [kaM esa 24 iz'u gSa] fdUgha 20 iz'uksa ds mÙkj nhft,A 
There are 24 questions in this section. Attempt any 20 questions. 
1- fuEufyf[kr esa dkSu&lk ,d yksx vkSj i;kZoj.k osQ chp vU;ksU;fozQ;k dk 

lokZf/d egRoiw.kZ dkjd gS\ 

 (a) ekuo cqf¼erk (b) izkS|ksfxdh 
 (c) yksxksa dk vuqHko (d) ekuoh; HkkbZpkjk 
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 Which one of the following is the most important factor in the interaction 
between people and environment? 

 (a) Human intelligene (b) Technology 
 (c) People’s Perception (d) Human Brotherhood 
2- fuEu esa ls dkSu&lh n'kk tukafddh; laozQe.k dh izFke voLFkk dks n'kkrh gS\ 

 (a) mPp iztuu'khyrk o mPp eR;Zrk 
 (b) fuEu tUe nj vkSj e`R;q nj 
 (c) fuEu tUe nj vkSj mPp e`R;q nj 
 (d) mPp tUe vkSj e`R;q nj 
 Which of the following represents the first stage of demographic transition? 
 (a) High fertility and high mortality 
 (b) Low birth rate and low death rate 
 (c) Low birth rate and high death rate 
 (d) High birth rate and high death rate 
3- o`gr [kuu] [kuu dk lcls vklku vkSj ------------ rjhdk gSA 

 (a) fu"iQy (b) egaxk 
 (c) lLrk (d) dfBu 
 The open-cast mining is the easiest and the ____ way of mining minerals. 
 (a) Useless (b) Expensive 
 (c) Cheapest (d) Hardest 
4- mfpr feyku dj lgh fodYi pqfu,% 

 1. vk; mikxe (i) lalk/uksa rd igq¡p osQ fy, {kerk 

dk fuekZ.k 

 2. dY;k.k mikxe (ii) U;wure vko';drkvksas dh O;oLFkk 

 3. vk/kjHkwr vko';drk mikxe (iii) ljdkj }kjk ekuo dY;k.k ij 

O;; 

 4. {kerk mikxe (iv) ekuo fodkl dks vk; osQ lkFk 

tksM+uk 
  1 2 3 4 
 (a) (iv) (iii) (ii) (i) 
 (b) (iii) (ii) (iv) (i) 
 (c) (i) (iii) (ii) (iv) 
 (d) (iv) (i) (iii) (ii) 
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 Match the following and choose the correct option: 
 1. Income approach (i) Building capabilities for access 

to resources. 
 2. Welfare approach (ii) Provision of minimum needs. 
 3. Basic needs approach (iii) Expenditure by government by 

human welfare. 
 4. Capabilities approach (iv) Human development is linked 

to income. 
  I II III IV 
 (a) (iv) (iii) (ii) (i) 
 (b) (iii) (ii) (iv) (i) 
 (c) (i) (iii) (ii) (iv) 
 (d) (iv) (i) (iii) (ii) 
5- fuEu esa ls fdl vof/ dks Hkkjr esa tula[;k foLiQksV dh vof/ osQ uke ls Hkh 

tkuk tkrk gS\ 

 (a) 1951&1981 (b) 1981 ls vkt rd 

 (c) 1921&1951 (d) 1901&1921 
 Which of the following period is referred as the period of population 

explosion in India? 
 (a) 1951-1981 (b) 1981 till present 
 (c) 1921-1951 (d) 1901-1921 
6- fuEu esa fdldk uxjh; loqQy esa lekos'k gksrk gS\ 

 (a) ,d uxj o mldk layXu uxjh; cfgcZ¼ 

 (b) cfgcZ¼ osQ lfgr vFkok jfgr nks ;k vf/d laLi'khZ uxj 

 (c) ,d vFkok vf/d layXu uxjksa osQ cfgcZ¼ ls ;qDr ,d laLi'khZ izlkj uxj 

dk fuekZ.k 

 (d) mijksDr lHkh 
 Which one of the following is consisted in an Urban agglomeration? 
 (a) a town and its adjoining urban out growths. 
 (b) two or more contiguous towns with or without their outgrowths. 
 (c) a city and core or more adjoining towns with their outgrowths 

together forming of a contiguous spread. 
 (d) All of the above 
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7- osQUnz ljdkj }kjk izofrZr ty&laHkj fodkl ifj;kstuk ftldk mís'; xzkeh.k 

tula[;k dks ihus] flapkbZ] eRL; ikyu vkSj uo jksi.k osQ fy, ty laj{k.k osQ 

;ksX; cukuk gS & 

 (a) gfj;kyh (b) uh:&eh: 

 (c) vjokjh ikuh laln (d) fujkapy 
 A watershed development project sponsored by the Central Government 

which aims at enabling the rural population to consume water for drinking, 
irrigation fisheries and afforestation. 

 (a) Haryali (b) Neeru-Meeru 
 (c) Aroary Pani Sansad (d) Neeranchal 
8- ekuo Hkwxksy esa dkSu&lk mikxe oaQI;wVj ifjÑ"V lkaf[;dh; fof/;ksa osQ iz;ksx osQ 

fy, fof'k"V gSa\ 

 (a) izknsf'kd fo'ys"k.k (b) Js=kh; foHksnu 

 (c) vUos"k.k vkSj forj.k (d) LFkkfud laxBu 
 Which approach in human geography is marked by the use of computer & 

sophisticated statistical tools? 
 (a) Regional analysis (b) Areal Differentiation 
 (c) Exploration & Description (d) Spatial Organisation 
9- fuEu esa ls dkSu&lh okf.kT; i'kq/u ikyu dh eq[; fo'ks"krk ugha gS\ 

 (a) O;ofLFkr ,oa iwath iz/ku gksrh gSA 

 (b) ;s LFkk;h iQkeks± ij gksrh gSA 

 (c) fof'k"V xfrfof/ gS] osQoy ,d gh izdkj osQ i'kq ikys tkrs gSaA 

 (d) i'kqikyu osQ lkFk&lkFk [ksrh Hkh dh tkrh gSA 
 Which of the following is not a feature of commercial livestock rearing? 
 (a) Organised and capital intensile 
 (b) Practical on permanent ranches 
 (c) Only one type of animal is reared. 
 (d) Crop cultivation is also done alongwith animal rearing. 
10- ,d vf'kf{kr cPpk MkWDVj cuus dk fodYi ugha pqu ldrkA fuEu esa ls fdl 

dkj.k ls mldk fodYi lhfer gks x;k\ 
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 (a) f'k{kk dk vHkko (b) vkfFkZd rFkk lkekftd fiNM+kiu 

 (c) LokLF; lqfo/kvksa dk vHkko (d) tUe LFkku 
 An uneducated child canot make the choice to be a doctor because her/his 

choice has got limited by which of the following. 
 (a) Lack of education 
 (b) Economic and social backwardness 
 (c) Lack of health facilities 
 (d) Place of birth 
11- Hkkjr esa tux.kuk (2011) osQ vuqlkj tula[;k esa fd'kksjksa dk fdruk izfr'kr 

va'k (Hkkx) gS\ 

 (a) 19 izfr'kr (b) 25 izfr'kr 

 (c) 20-9 izfr'kr (d) 23 izfr'kr 
 What percentage of share of adolescents is existed in the populatino of India 

according Census 2011? 
 (a) 19 Percent (b) 25 Percent 
 (c) 20.9 Percent (d) 23 Percent 
12- fuEu esa dkSu&lk izokl dk lkekftd ifj.kke gS\ 

 (a) uxjh; cfLr;ksa dh vfu;ksftr o`f¼ 

 (b) fofo/ laLÑfr;ksa osQ yksxksa dk vkil esa feyuk 

 (c) tula[;k dk iqufoZrj.k 

 (d) varjkZ"Vªh; gqafM+;k 
 Which of the following is a social consiquence of migration? 
 (a) Unplaned growth of urban settlements 
 (b) Intermixing of people of diverse culture 
 (c) Re-distribution of population 
 (d) International remittances 
13- iUuk] uxyk vkSj <k¡.kh fuEu esa ls fdlosQ mnkgj.k gSa\ 

 (a) iYyh cfLr;k¡ (b) xqfPNr cfLr;k¡ 

 (c) v/Z&xqfPNr cfLr;k¡ (d) ifjf{kIr cfLr;k¡ 
 Panna, Para, Nagla are examples of which of the following? 
 (a) Hamleted settlements (b) Clustered settlements 
 (c) Semi-clustered settlements (d) Dispersed settlements 
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14- fuEu esa ls dkSu&lk ;qXe lqesfyr ugha gS\ 

 (a) lkekftd Hkwxksy & fyax Hkwxksy 

 (b) vkfFkZd Hkwxksy & foi.ku Hkwxksy 
 (c) vkokl Hkwxksy & uxj@xzkeh.k fu;kstu 

 (d) jktuhfrd Hkwxksy & varjkZ"Vªh; O;kikj dk Hkwxksy 
 Which of the following is not matched correctly? 
 (a) Social Geography - Gender Geography 
 (b) Economic Geography - Marketing Geography 
 (c) Settlement Geography - Urban/Rural Planning 
 (d) Political Geography - International Trade Geography 
15- fuEufyf[kr esa ls dkSu&lk tutkrh; lewg] Hkkjr esa fgeky; osQ ioZrh; {ks=k esa 

½rq izokl ls lEcfU/r gSa\ 

 (a) Hkhy (b) cdjoky 
 (c) laFkky (d) xkSaM 
 Which of the following tribal community is associated with trans humance 

in mountainous region of Himalayas in India. 
 (a) Bhil (b) Bakarwal 
 (c) Santhal (d) Gond 
16- fuEu esa ls dkSu&lh fo'ks"krk mPp ekuo fodkl okys ns'kksa ls lacaf/r ugha gS\ 

 (a) vusd ns'k iwoZ lkezkT; 'kfDr;k¡ jgh gSaA 

 (b) bu ns'kksa esa vf/d fofo/rk ikbZ tkrh gSA 
 (c) vf/drj ns'k ;wjksi esa vofLFkr gSaA 

 (d) ;s ns'k vkS|ksfxÑr if'peh fo'o dk izfrfuf/Ro djrs gSaA 
 Which of the following feature is not associated with countries with Higher 

Level of Human Development? 
 (a) Many of these countries have been the former imperial powers. 
 (b) These countries represent higher level of diversity. 
 (c) Many of these countries are located in Europe. 
 (d) These countries represent the industrialised western world. 
17- y?kqre Hkk"kk oxZ esa fuEu esa ls dkSu&lh Hkk"kk,¡ lfEefyr gSa\ 

 (a) cksM+ks vkSj laLÑr (b) xqtjkrh vkSj ejkBh 
 (c) rfey vkSj rsyqxw (d) fgUnh vkSj iatkch 
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 Which one of the following languages are to included in the smallest 
language groups? 

 (a) Bodo and Sanskrit (b) Gujrati and Marathi 
 (c) Tamil and Telugu (d) Hindi and Punjabi 
18- fuEu esa ls dkSu&lk ekuo Hkwxksy dk {ks=k ugh gS\ 

 (a) vkokl Hkwxksy (b) tula[;k Hkwxksy 
 (c) uxjh; Hkwxksy (d) leqnz foKku 
 Which of the following is not a field of human geography? 
 (a) Settlement geography (b) Population geography 
 (c) Urban geography (d) Oceanography 
19- jktLFkku vkSj egkjk"Vª esa vf/d nksgu osQ dkj.k HkkSety esa D;k c<+ x;k gS\ 

 (a) ÝyqvksjkbM dk laosQnz.k c<+uk (b) laf[k;k dk laosQnz.k c<+uk 
 (c) e`nk yo.krk c<+uk (d) DyksjkbM laosQnz.k c<+uk 
 What is increased in groundwater due to its over withdrawls in the states of 

Rajasthan and Maharashtra? 
 (a) Increased fluoride concentration 
 (b) Increased feorite concentration 
 (c) Increased salinity 
 (d) Increased chloride concentration 
20- jk"Vªh; ty uhfr 2002 ty vkoaVu izkFkfedrk,¡ fuEufyf[kr esa ls fdl ozQe esa 

fufnZ"V dh xbZ gSa\ 

 (a) vkS|ksfxd flapkbZ] ty'kfDr] ukSdk;u] is;ty vkSj vU; mi;ksx 

 (b) is;ty] flapkbZ] ty'kfDr] ukSdk;u] vkS|ksfxd vkSj vU; mi;ksx 
 (c) is;ty] flapkbZ] vkS|ksfxd] ty'kfDr] ukSdk;u vkSj vU; mi;ksx 

 (d) is;ty] ty'kfDr] vkS|ksfxd] ukSdk;u] flapkbZ vkSj vU; mi;ksx 
 The National Water Policy 2002 stipulates water allocation priorities in the 

following order: 
 (a) Industrial, Irrigation, Hydro-power, Navigation, Drinking Water, 

others uses 
 (b) Drinking Water, Irrigation, Hydro-power, Navigation, Industrial and 

others uses 
 (c) Drinking Water, Irrigation, Industrial, Hydro-power, Navigation and 

others uses 
 (d) Drinking Water, Hydro-power, Irrigation, Industrial, Irrigation and 

others uses 
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21- izQkalokfl;ksa us if'peh vizQhdk esa dkWiQh ,oa dksdksvk dh ikS/ yxkbZA fuEu esa ls 

;g fdl Ñf"k ls lEcfU/r gS\ 

 (a) jksi.k Ñf"k (b) fefJr Ñf"k 

 (c) Hkweè;lkxjh; Ñf"k (d) foLr`r okf.kT; vukt Ñf"k 
 The French established cocoa and coffee farming in West Africa. With 

which of the following Agriculture it is associated? 
 (a) Plantation agriculture 
 (b) Mixed agriculture 
 (c) Mediterrnean agriculture 
 (d) Extensive Commercial grain cultivation 
22- fuEu esa ls dkSu&lk dkjd tula[;k forj.k dks fu/kZfjr ugha djrk gS\ 

 (a) Hkw&vkÑfr (b) ty dh miyC/rk 

 (c) tyok;q (d) fyax vuqikr 
 Which of the following factor does not determine the population 

distribution? 
 (a) Land Forms (b) Availability of Water 
 (c) Climate (d) Sex-ratio 
23- jkT; tks vius varjkZ"Vªh; izokfl;ksa esa egRoiw.kZ jkf'k izkIr djrs gSa & 

 (a) xksok] egkjk"Vª vkSj xqtjkr (b) egkjk"Vª] dukZVd vkSj xksok 

 (c) iatkc] osQjy vkSj rfeyukMq (d) iatkc] gfj;k.kk vkSj jktLFkku 
 The state which receives a very significant amount from their international 

migrants is - 
 (a) Goa, Maharashtra and Gujarat 
 (b) Maharashtra, Karnataka and Goa 
 (c) Punjab, Kerala and Tamilnadu 
 (d) Punjab, Haryana and Rajasthan 
24- fuEu esa ls dkSu&ls lanw"k.k ufn;ksa esa iznw"k.k dk eq[; Ïksr gS\ 

 (a) moZjd vkSj dhVuk'kd (b) Bksl vkSj vif'k"V inkFkZ 

 (c) tSo vkSj thok.kfod (d) mijksDr lHkh 
 Which of the following contamination continues to be the main source of 

pollution in rivers? 
 (a) Fertilisers and insecticides (b) Solid and liquid wastes 
 (c) Organic and bacterial (d) All of the above 
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[k.M&[k (Section-B) 

bl [kaM esa 24 iz'u gSaA fdUgha 20 iz'uksa ds mÙkj nhft,A iz'u la[;k la- 25 ls 29 

ekufp=k vk/kfjr gSa vkSj vfuok;Z gSaA n`f"Vckf/r Nk=k cgqfodYih; iz'uksa dk mÙkj 

nsaxsA 
There are 24 questions in this section. Attempt any 20 questions. 
Question No. 25-29 are based on map and are compulsory. Visually impaired 
students will attempt MCQs. 

 
25- {ks=kiQy dh n`f"V ls mÙkjh vesfjdk egk}hi dk lcls cM+k ns'k & 

 (a) feJ (b) dukMk 

 (c) la;qDr jk"Vª vesfjdk (d) eSfDldks 
 Largest Country in North America continent in term of area - 
 (a) Egypt (b) Canada 
 (c) USA (d) Mexico 
26- nf{k.kh vesfjdk osQ fdl {ks=k esa foLr`r okf.kT; vukt Ñf"k dh tkrh gS\ 

 (a) izs;jht (b) osYM 

 (c) iaikt (d) Mkmal 
 In which the following region of South America commerical grain 

cultivation is practiced? 
 (a) Prairies (b) Veld 
 (c) Pampas (d) Downs 
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27- fuEu esa ls fdl ns'k esa okf.kT; i'kq/u ikyu dh xfrfof/;k¡ dh tkrh gS\ 

 (a) Hkkjr (b) U;wthySaM 

 (c) vtsZVkbuk (d) m#Xos 
 Which of the following country commercial livestood rearing is practised? 
 (a) India (b) New Zealand 
 (c) Argentina (d) Uruguay 
28- {ks=kiQy dh n`f"V ls ;wjksi egk}hi dk lcls cM+k ns'k & 

 (a) Hkkjr (b) phu 

 (c) izQkal (d) lksfo;r :l 
 Largest country in Asia Continent in terms of area - 
 (a) India (b) China 
 (c) France (d) Soviet Russia 
29- fdl ns'k esa Hkweè;lkxjh; Ñf"k dh tkrh gS & 

 (a) dukMk (b) vtsZVkbuk 

 (c) V~;wuhf'k;k (d) nf{k.k vizQhdk 
 In which country Mediterranean agriculture is practised? 
 (a) Canada (b) Argentina 
 (c) Tunisia (d) South Africa 
iz'u la[;k 30&48 (dksbZ Hkh 15 iz'u djsa) 
Question No.30-48 (attempt any 15 questions) 
30- fuEufyf[kr mikxeksa dks muosQ le; vof/ osQ vuqlkj lgh ozQe esa O;ofLFkr 

dhft, rFkk fn, x, fodYiksa esa ls lgh fodYi pqfu, & 

 1- LFkkfud laxBu 2- izknsf'kd fo'ys"k.k 

 3- {ks=kh; foHksnu 4- ekuorkoknh mikxe 

 fodYi% 

 (a) 2 3 1 4 

 (b) 1  2 3 4 

 (c) 4 1 2 3 

 (d) 3 2 1 4 



XII-GEOGRAPHY 11

 Arrange the following approaches in chronological order and chose the 
correct option. 

 1. Spatial organisation 2. Regional analysis 
 Options: 
 (a) 2 3 1 4 
 (b) 1  2 3 4 
 (c) 4 1 2 3 
 (d) 3 2 1 4 
31- tc nks le; vUrjkyksa osQ chp tUe nj e`R;q nj ls vf/d gks rks] ml voLFkk 

dks dgrs gS & 
 (a) tula[;k dh ½.kkRed o`f¼ (b) tula[;k dh ldkjkRed o`f¼ 
 (c) tula[;k o`f¼ (d) dksbZ Hkh ugha 
 When the birth rate is more than the death rate between two points of time, it 

is known as – 
 (a) Negative growth of population (b) Positive growth of population 
 (c) Natural growth of population (d) None of the above 
32- fuEufyf[kr dFkuksa ij fopkj djsa rFkk mudk ewY;kadu dhft, rFkk fn, gq, 

fodYiksa esa ls lgh fodYi dk pquko dhft, & 
 (i) laxzg.k }kjk izkIr mRikn fo'o cktkj esa izfrLi/kZ ugha dj ldrsA 
 (ii) dbZ izdkj dh vPNh fdLe rFkk de nke okys Ñf=ke mRiknksa us laxzg.k 

}kjk ,df=kr mRiknksa dk LFkku ys fy;k gSA 
 (a) nksuksa dFku (i) vkSj (ii) lgh gSA 
 (b) nksuksa dFku lgh gSaA dFku (ii) dFku (i) dh lgh O;k[;k djrk gSA 
 (c) nksuksa dFku xyr gSaA 
 (d) osQoy dFku (i) lgh gSA 
 Consider the following statement and choose the correct option for the same: 
 (i) Product of gathering activity cannot compete in the world market. 
 (ii) Synthetic products often of better quality and at a lower prices, have 

replaced many items supplied by the gatherers. 
 (a) Both the statements are correct. 
 (b) Both the statements are correct and statement (i) is correct explanation 

of statement (i). 
 (c) Both the statement are incorrect. 
 (d) Only statement (i) is correct. 
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33- mfpr feyku dj lgh fodYi pqfu,% 

  ekuo fodkl osQ mik;  fo'ks"krk,¡ 
 (1) vk; mikxe (i) ILO (varjkZ"Vªh; Je laxBu) 

}kjk izLrkfor 
 (2) dY;k.k mikxe (ii) izks- veR;Z lsu ls lacaf/r 
 (3) vk/kjHwkr vko';drk mikxe (iii) lcls iqjkuk mikxe 
 (4) {kerk mikxe (iv) yksx osQoy fuf"ozQ; izkIrdrkZ gSA 

 fodYi% 
  (i) (ii) (iii) (iv) 
 (a) 3 4 1 2 
 (b) 1 2 3 4 
 (c) 4 3 1 2 
 (d) 3 4 2 1 
 Match the following and choose the correct option. 
  Approaches to   Features 
  Human Development 
 1. Income approach (i) Proposed by International 

Labour Organisation 
 2. Welfare approach (ii) Prof. Amartya Sen 
 3. Basic needs approach (iii) Oldest Approach 
 4. Capabilities approach (iv) People are passive recipients 
 Choose the crrect option: 
  (i) (ii) (iii) (iv) 
 (a) 3 4 1 2 
 (b) 1 2 3 4 
 (c) 4 3 1 2 
 (d) 3 4 2 1 
34- fuEu esa ls dkSu&lh tukafddh; laozQe.k fl¼kUr dh vfUre voLFkk dh fo'ks"krk 

gS\ 

 (a) tula[;k o`f¼ /heh gksrh gSA 

 (b) thou izR;k'kk fuEu gksrh gSA 
 (c) tula[;k fopkjiwoZd ifjokj osQ vkdkj dks fu;af=kr djrh gSA 

 (d) buesa ls dksbZ ugha 
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 Which of the following is the feature of the last stage of demographic 
Transition Theory? 

 (a) The population growth is slow. 
 (b) Life expectancy is low. 
 (c) Population deliberately controls the family size. 
 (d) None of these. 
35- fuEu esa ls ty fdl izdkj dk lalk/u gS\ 
 (a) vtSo lalk/u (b) vuohdj.kh; lalk/u 
 (c) tSo lalk/u (d) pozQh; lalk/u 
 Which of the following type of rrsource the water is - 
 (a) Abiotic resource (b) Non-renewable resource 
 (c) Biotic resource (d) Cyclic resource 
36- fuEufyf[kr ns'kksa dks muosQ Hkkjr esa vkus okys vizokfl;ksa osQ ?kVrs ozQe esa 

O;ofLFkr dhft,A 
 (a) ikfdLrku] ckaXykns'k] Jhyadk (b) ckaXykns'k] ikfdLrku] usiky 
 (c) ikfdLrku] viQxkfuLrku] Jhyadk (d) ckaXykns'k] ikfdLrku] viQxkfuLrku 
 Arrange the following countries in decreasing order of their immigrants flow 

into India? 
 (a) Pakistan, Bangladesh, Sri Lanka 
 (b) Bangladesh, Pakistan, Nepal 
 (c) Pakistan, Afghanistan, Sri Lanka 
 (d) Bangladesh, Pakistan, Afghanistan 
37- uhps fn, x, rF;ksa dks è;ku ls if<+, vkSj o"kkZ ty laxzg.k lacaf/r lgh rF;ksa 

dh igpku dhft,A o"kkZ ty laxzg.k dh fof/ 
 1- o"kkZ ty dks Nrksa ls bdV~Bk djosQ uhps gkSt esa bdV~Bk djukA 
 2- Hkwfexr ty dks iz;ksx esa ykukA 
 3- nwj fLFkr ufn;ksa osQ ikuh dks ykukA 
 4- iQkyrw (csdkj) ty osQ cgko dks oqQ,¡ rd ys tkus dh fof/A 
 fodYi% 
 (a) osQoy 1 vkSj 2 lgh gSaA (b) 1 rFkk 4 
 (c) lHkh lgh gSA (d) dksbZ Hkh lgh ugha gSA 

Read the facts associated with rain water harvesting and choose the correct 
options associates with the process of rainwater harvesting. Process of Rain 
Water Harvesting 
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 1. Collecting rain water on the roof and diverting and collecting in a 
tank. 

 2. Putting ground water to use. 
 3. Diverting water from distant rivers. 
 4. The process of diverting run-off to a well. 
 Options: 
 (a) Only 1 and 2 are correct. 
 (b) 1 and 4. 
 (c) All are correct. 
 (d) None of the above is correct. 
38- lwph 1 dks lwph 2 osQ lkFk lqesfyr dhft, vkSj uhps fn, owQV dh lgk;rk ls 

lgh mÙkjh dk p;u djsaA 

  uxj  uxjksa osQ izdkj 

 i. elwjh 1- iz'kklfud uxj 

 ii. paMhx<+ 2- vkS|ksfxd uxj 
 iii. te'ksniqj 3- ifjogu uxj 

 iv. fo'kk[kkiV~ue 4- i;ZVu uxjt 

 fodYi% 
  (i) (ii) (iii) (iv) 
 (a) 1 2 3 4 
 (b) 1 3 4 3 
 (c) 4 1 2 3 
 (d) 4 3 2 1 
 Match Column I with Column II and choose the correct option. 
  City  Type of City 
 i. Mussorie 1. Administrative town 
 ii. Chandigarh 2. Industrial town 
 iii. Jamshedpur 3. Transport town 
 iv. Visakhapatnam 4. Tourist town 
 Options: 
  (i) (ii) (iii) (iv) 
 (a) 1 2 3 4 
 (b) 1 3 4 3 
 (c) 4 1 2 3 
 (d) 4 3 2 1 
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39- fuEu esa dkSu&lk ekuo Hkwxksy osQ vè;;u ls lfEefyr ugha gSa\ 

 (a) HkkSfrd i;kZoj.k dk vè;;;u 

 (b) HkkSfrd i;kZoj.k ,oa ekuoh; txr osQ chp vè;;u 

 (c) ekuoh; ifj?kVukvksa osQ LFkkfud forj.k dk vè;;u 

 (d) fo'o osQ fofHkUu Hkkxksa esa lkekftd vkSj vkfFkZd fofHkUurkvksa dk vè;;u 
 Which of the following is not the study area of human geography? 
 (a) Study of the Physical Environment 
 (b) Study of the inter-relationship between natural environment and 

human would. 
 (c) Study of spatial distribution of human phenomena. 
 (d) Study of serial and economic variation in different parts of the world. 
40- ekuo fodkl ekiu osQ nks egRoiw.kZ lwpdkad gSa ------------ 

 (a) lk{kjrk nj vkSj ozQ; 'kfDr 

 (b) izfr O;fDr vk; vkSj thou izR;k'kk 

 (c) ekuo fodkl lwpdkad vkSj xjhch lwpdkad 

 (d) lk{kjrk nj vkSj thou izR;k'kk 
 The two important indices for measuring human development _____ 
 (a) Literacy Rate and Purchasing Power 
 (b) Per-capita income and Life expectancy 
 (c) Human Development index and Poverty Index 
 (d) Literacy Rate and Life Expectancy 
41- fuEufyf[kr jkT;ksa dks muosQ izokfl;ksa dks vkdf"kZr djus osQ lgh ozQe esa O;ofLFkr 

dhft,A 

 (i) xqtjkr (ii) egkjk"Vª 

 (iii) fnYyh (iv) gfj;k.kk 

 fodYi% 
 (a) (i), (iii), (i), (iv) (b) (i), (ii), (iii), (iv) 
 (c) (ii), (i), (iii), (iv) (d) (iii), (ii), (i), (iv) 
 Arrange the following states in the correct order according to their 

attractives of migrants: 
 (i) Gujarat (ii) Maharashtra 
 (iii) Delhi (iv) Haryana 
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 Options: 
 (a) (i), (iii), (i), (iv) (b) (i), (ii), (iii), (iv) 
 (c) (ii), (i), (iii), (iv) (d) (iii), (ii), (i), (iv) 
42- fuEufyf[kr dFkuksa ij fopkj dhft, rFkk mudk ewY;kadu dhft, ,oa fn, gq, 

fodYiksa esa ls lgh fodYi dk pquko dhft,A 
 I. Hkkjr esa oqQN lkS ?kjksa dh xqfPNr cfLr;k¡ ,d lkoZHkkSfed fo'ks"krk gS] 

fo'ks"k :i ls mÙkjh eSnkuh bykdksa esaA 
 II. yksx lqj{kk ;k j{kk dkj.kksa ls xqfPNr cfLr;ksa esa jgrs gSaA oqQN {ks=kksa esa ikuh 

dh deh osQ dkj.k miyC/ ty&lalk/uksa osQ vf/dre mi;ksx us lnar 
cfLr;ksa dks vfuok;Z cuk fn;k gSA 

 fodYi% 
 (a) dFku I vkSj dFku II lgh gS vkSj dFku II dFku I dh lgh O;k[;k djrk 

gSA 
 (b) dFku I vkSj dFku II lgh gS ijarq dFku II dFku I dh lgh O;k[;k ugha 

djrk gSA 
 (c) dFku I lgh gS vkSj dFku II xyr gSA 
 (d) dFku I xyr gS vkSj dFku II lgh gSA 
 Consider the following statements, and choose the correct option for the 

same: 
 I. In India compact vilage of a two hundred hours is a rather universal 

feature, particularly in the northern. 
 II. People live in compact village for security or defence reasons. In 

some areas scarcity of water has necessitated compact settlement for 
maximum utilisation of available water. 

 Options: 
(a) Statement I and II are true and Statement II is the correct explanation 

of Statement I. 
(b) Statement I and II are true and II is not the correct explanation of 

Statement I. 
 (c) Statement I is true but Statement II is false. 
 (d) Statement I is false but Statement II is true. 
43- fuEufyf[kr esa ls fdl {ks=k esa lcls iqjkuh vkSj lqfodflr uxjh; cfLr;k¡ ikbZ 

tkrh gSa\ 
 (a) eslksiksVkfe;k (b) uhy unh 
 (c) àax?ks ?kkVh (d) fla/q ?kkVh 
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 In which of the following regions the oldest and well developed urbanized 
settlements are found? 

 (a) Mesopotamia (b) Nile Valley 
 (c) Hwang-Ho-Valley (d) Indus Valley 
44- og {ks=k tgk¡ ls o"kkZ unh] >hy ;k tyk'k; esa izokfgr gksrh gS] ---------------- 

dgykrk gSA 

 (a) tyk'k; {ks=k (b) tyxzg.k {ks=k 
 (c) tylaxzg.k {ks=k (d) tyfoHkktd 
 The area from which rainfall flows into a river, lake or reservoir is called a 

________. 
 (a) Reservoir area (b) Catchment area 
 (c) Water gathering area (d) Water-divide 
45- buesa ls dkSu&lh MSjh Ñf"k dh fo'ks"krk ugha gS\ 

 1- nq/k: tkuojksa dk i'kqikyu 2- vkS|ksfxd vkSj uxjh; {ks=k osQ ikl 

 3- ifjogu cgqr egRoiw.kZ ugha 4- de iwath fuos'k 

 fodYi% 

 (a) 1] 2 vkSj 3 (b) 3 vkSj 4 
 (c) 2 vkSj 3 (d) 1 vkSj 3] 4 
 Which of the following is not a feature of dairy farming? 
 1. Rearing of Milch animals 
 2. Located near urbanised & industrialised area 
 3. Transport is not very important 
 4. Low capital investment 
 Options: 
 (a) 1, 2 and 3 (b) 3 and 4 
 (c) 2 and 3 (d) 1, 3 and 4 
46- fuEufyf[kr fodYiksa esa ls dkSulk fodYi tula[;k vuqlkj jkT;ksa osQ lgh ozQe 

dks iznf'kZr djrk gS\ 

 (a) mÙkj izns'k] egkjk"Vª] fcgkj] if'pe caxky 

 (b) fcgkj] if'pe caxky] mÙkj izns'k] egkjk"Vª 
 (c) mÙkj izns'k] if'pe caxky] fcgkj] egkjk"Vª 

 (d) fcgkj] if'pe caxky] egkjk"Vª] mÙkj izns'k 
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 Which of the following options, represent the correct order of states 
according to population? 

 (a) Uttar Pradesh, Maharashtra, Bihar, West Bengal 
 (b) Bihar, West Bengal, Uttar Pradesh, Maharashtra 
 (c) Uttar Pradesh, Bihar, West Bengal, Maharashtra 
 (d) Bihar, West Bengal, Maharashtra] Uttar Pradesh 
47- fuEu esa ls dkSu lk ,d rF; ugha gS\ 

 (a) xr 500 lky ls ekuo tula[;k 10 xquk ls T;knk c<+ xbZ gSA 

 (b) fo'o tula[;k dks 100 lky yxs 5 vjc ls 6 vjc gksus esaA 
 (c) tukafddh; laozQe.k fl¼kUr osQ vuqlkj izFke voLFkk esa tula[;k o`f¼ 

vf/d gSA 

 (d) fodkl'khy ns'kksa esa tula[;k o`f¼ vf/d gSA 
 Which one of the following is not a fact? 
 (a) Human population increased more than ten times during the past 500 

years. 
 (b) It took 100 years for the population to rise from 5 billion to 6 billion. 
 (c) Population growth is high in the first stage of demographic transition 

thoery. 
 (d) Population growth is high in developing nations. 
48- ns'k osQ mÙkj&if'peh] mÙkjh vkSj mÙkj eè; Hkkxksa esa if'pe ls iwoZ rd jkT;ksa dh 

,d lrr isVh esa nf{k.k jkT;ksa dh vis{kk -------- ik;h tkrh gS\ 
 (a) vf/d (b) de 
 (c) cgqr de (d) mPp o`f¼ nj 
 A continuous belt of state from West to East in the north-west, north and 

north capital central parts of the country has relatively ______ than the 
Southern State. 

 (a) High (b) Low 
 (c) Very Low (d) High Growth Rate 

[k.M&x (Section-C) 
Jksr vk/kfjr iz'u (Source Based Questions) 

iz'u la[;k 49 ls 52 rd vfuok;Z gSaA 

 mifLFkfr dh voLFkk ,oa v;Ld dh izÑfr osQ vk/kj ij [kuu osQ nks izdkj gSa % 
/jkryh; ,oa Hkwfexr  [kuu /jkryh; [kuu dks foo`r [kuu Hkh dgk tkrk gSA 
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;g [kfutksa osQ [kuu dk lcls lLrk rjhdk gS] D;ksafd bl fof/ esa lqj{kkRed 
iwoksZik;ksa ,oa midj.kksa ij vfrfjDr [kpZ vis{kkÑr fuEu gksrk gS ,oa mRiknu 'kh?kz 
o vf/d gksrk gSA tc v;Ld /jkry osQ uhps xgjkbZ eas gksrs gS rc Hkwfexr 
vFkok owQidh [kuu fof/ dk iz;ksx fd;k tkrk gSA bl fof/ esa yacor~ owQid 
xgjkbZ rd fLFkr gSa] tgk¡ ls Hkwfexr xSyfj;k¡] [kfutksa rd igq¡pus osQ fy, iSQyh 
gSaA bu ekxks± ls gksdj [kfutksa dk fu"d"kZ.k ,oa ifjogu /jkry rd fd;k tkrk 
gSA [knku esa dk;Z djus okys Jfedksa rFkk fudkys tkus okys [kfutksa osQ lqjf{kr 
vkSj izHkkoh vkokxeu gsrq blesa fo'ks"k izdkj dh fyÝV cs/d (ojek)] eky <ksus 
dh xkfM+;k¡ rFkk ok;q lapkj iz.kkyh dh vko';drk gksrh gSA [kuu dk ;g rjhdk 
tksf[ke Hkjk gS D;ksafd tgjhyh xSlsa] vkx ,oa ck<+ osQ dkj.k dbZ ckj nq?kZVuk,¡ gksus 
dk Hk; jgrk gSA fodflr vFkZO;oLFkk okys ns'k mRiknu dh [kuu] izlaLdj.k ,oa 
'kks/u dk;Z ls ihNs gV jgs gSa D;kasfd blesa Jfed ykxr vf/d vkus yxh gSA 
tcfd fodkl'khy ns'k vius fo'kky Jfed 'kfDr osQ cy ij vius ns'kokfl;ksa 
osQ m¡Qps jgu&lgu dks cuk, j[kus osQ fy, [kuu dk;Z dks egRo ns jgs gSA 
vizQhdk osQ dbZ ns'k] nf{k.k vesfjdk osQ oqQN ns'k ,oa ,f'k;k esa vk; osQ lk/uksa 
dk ipkl izfr'kr rd [kuu dk;Z ls izkIr gksrk gSA 

 Depending on the mode of occurence and the nature of the ore, mining is of 
two types : Surface and underground mining. The surface mining also 
known as open cast mining is the easiest and the cheapest way of mining 
minerals that occur close to the surface, overhead costs such as safety 
precautions and equipments are relatively low in this methdo. The output is 
both large and rapid. When the ore lies deep below the surface, underground 
mining method (shaft method) has to be used. In this method, vertical shafts 
have to be sunk, from where underground gallries radiate to reach the 
minerals. Minerals are extracted and transported to the surface through these 
pasages. It requires specially designed lifts, drills, hautage, vehicles, 
ventilation system for safety and efficient movement of people and material. 
This methos is risky. Poisonous gages, fires, floods and caveng in bad to 
fatal accidents. The developed economies are retreating from mining, 
processing and refining stages of production due to high labour costs, while 
the developing counries with large labour force and striving for higher 
standard of living are becoming more important. Several countries of Africa 
and few of South America and Asia have over fifty percent of the earnings 
from minerals alone. 
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49- foo`r [kuu dh izfozQ;k mu [kfutksa osQ fy, dh tkrh gS tks % 
 (a) vf/d xgjkbZ eas ik, tkrs gSA (b) /jkry ij ik, tkrs gSaA 
 (c) /jkry osQ ikl ik, tkrs gSaA (d) ftuesa Hkkj vf/d gSA 
 Open cast mining is used for the minerals which : 
 (a) found at great depths (b) found at the surface 
 (c) found near the surface (d) which are heavier 
50- fodflr vFkZO;oLFkk okys ns'k mRiknu dh [kuu izlaLdj.k ,oa 'kks/u dk;Z ls 

ihNs gV jgs gSa D;ksafd % 
 (a) iqjkuh xfrfof/ gS (b) Jfed ykxr vf/d gS 
 (c) [kuu dh iqjkuh fof/;k¡ (d) mijksDr ls dksbZ ugha 
 Developed economies are retreating from mining, processing and refinery 

stages of production because : 
 (a) old and outdated (b) high labour costs 
 (c) old and outdated method (d) note required 
51- [kuu dh dkSu&lh fof/ tksf[ke Hkjh gS\ 
 (a) foo`r [kuu (b) /jkryh; [kuu 
 (c) owQidh [kuu (d) lrgh [kuu 
 Which method of mining is very risky? 
 (a) open cast mining (b) loose cast mining 
 (c) shaft mining (d) surface mining 
52- Hkwfexr [kuu fof/ esa fdu dkj.kksa ls nq?kZVukvksa dk Hk; jgrk gS\ 
 (a) tgjhyh xSl (b) vkx 
 (c) ck<+ (d) mijksDr lHkh 
 By which reasons fear of fatal accidents remain in underground mining? 
 (a) Poisonous gases (b) Fires 
 (c) Floods (d) All of the above 
xzkiQ vk/kfjr iz'u 

iz'u la[;k 53&56 esa ls dksbZ 3 iz'u dhft,A 
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 Graph Based Questions. 
 Attempt any 3 questions from the following questions 53-56. 

 
 fn, x, xzkiQ dk vè;;u djsa vkSj fuEu iz'uksa ds mÙkj nhft,A 
 Study the given graph carefully and answer the following questions: 
53- de&nwjh osQ var% jkT;h; izokl esa fdldk izokl vf/d gS\ 

 (a) iq#"k (b) fL=k;k¡ 

 (c) nksuksa (d) cPps 
 Who dominates the intra-state migration of short distance? 
 (a) Males (b) Females 
 (c) Both (d) Children 
54- iq#"kksa osQ xzkeh.k ls uxjksa dh vksj izokl dk eq[; dkj.k D;k gS\ 

 (a) izkÑfrd vkink (b) f'k{kk 

 (c) jkstxkj (d) fookg 
 What is the main cause of male migration from rural to urban? 
 (a) Natural Disasters (b) Education 
 (c) Employment (d) Marriage 
55- izokl dh dkSu lh /kjk varjjkT;h; izokl esa lcls de izo`fÙk n'kkZrh gS\ 

 (a) xzkeh.k ls xzkeh.k (b) xzkeh.k ls uxjh; 

 (c) uxjh; ls xzkeh.k (d) uxjh; ls uxjh; 
 Which stream of migration shows the lowest trend in inter-state migration? 
 (a) Rural to Rural (b) Rural to Urban 
 (c) Urban to Rural (d) Urban to Urban 
56- varjjkT;h; izokl esa xzkeh.k ls xzkeh.k izokl esa lokZf/d izokl fdldk gS\ 

 (a) cPps (b) iq#"k 

 (c) efgyk,¡ (d) nksuksa 
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 Who dominates rural to rural migration in inter-state migration? 
 (a) Children (b) Males 
 (c) Females (d) Both 
 n`f"Vckf/r vH;kfFk;ksa ds fy, iz'u la[;k (53&56) ds LFkku ijA 
 For Visually Impaired Candidates in lieu of Q.No. 53-56 (Graph based 

question) 
53- xzkeh.k ls uxjh; iq#"k iz/ku izokl dk eq[; dkj.k D;k gS\ 

 (a) jkstxkj (b) fookg 

 (c) f'k{kk (d) tUe osQ lkFk izokl 
 What is the main cause of male migration from rural to urban areas. 
 (a) Employment (b) Marriage 
 (c) Education (d) Move with birth 
54- 65 izfr'kr efgyk,¡ viuk iSr`d ?kj fdl dkj.ko'k NksM+rh gS\ 

 (a) f'k{kk (b) tUe 

 (c) O;kikj (d) fookg 
 By which reason 65 percent of females move out from their parental houses? 
 (a) Education (b) Birth 
 (c) Business (d) Marriage 
55- Hkkjr osQ egkuxjksa esa vfu;fer izokl osQ dkj.k fdl leL;k dk lkeuk djuk iM+ 

jgk gS\ 

 (a) xanh cfLr;kasa dk fuekZ.k (b) ok;q iznw"k.k 

 (c) (a) o (b) nksuksa (d) buesa ls dksbZ ugha 
 What type of problem is being faced due to unregulated migration to the 

metropolitan cities of India? 
 (a) Formation of Slums (b) Air Pollution 
 (c) Both (a) and (b) (d) None of these 
56- og 'kCn ftldk mi;ksx mu dkjdksa dk o.kZu djus osQ fy, fd;k tkrk gS tks 

yksxksa dks fdlh ns'k] {ks=k dh vksj vkdf"kZr djrs gSa % 

 (a) izfrd"kZ dkjd (b) vid"kZ dkjd 

 (c) vkizokl (d) mÙkizokl 
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 The term which is used to describe factors that attract people to a country, 
region, religion organisation etc. is known as : 

 (a) Push factor (b) Pull factor 
 (c) Immigration (d) Migration 
 MsVk vk/kfjr iz'u (Data based questions) 
 dksbZ 3 iz'u dhft,] iz'u la[;k 57&60 
 Attempt any 3 questions from the following questions 57-60. 
 rkfydk % Hkkjr & oxkZuqlkj 'kgjksa vkSj uxjksa dh la[;k ,oa mudh 

tula[;k] 2011 

oxZ tula[;k 

vkdkj 

'kgjksa dh 

la[;k 

oqQy 'kgjh tula[;k 

(gtkj esa) 

uxjh; tula[;k 

dk » 
I 1]00]000 vkSj 

vf/d 

568 2]27]899 60-45 

II 50]000&99]999 474 41]328 10-96 
III 20]000&49]999 1]373 58]174 15-43 
IV 10]000&19]999 1]683 31]866 8-45 
V 5]000&9]999 1]749 15]883 4-21 
VI 5]000 ls de 424 1]956 0-52 

lzksr% Hkkjr dh tux.kuk&2011] Hkkjr&2017] lwpuk ,oa izlkj.k ea=kky;] Hkkjr ljdkj 
 Table : India-Class-wise number of towns and cities and their 

population, 2011 
Class Population Size Number 

of Cities 
Total Urban 
Population 

(in housand) 

% of Total 
Urban Population 

I 1,00,000 & more 568 2,27,899 60-45 
II 50,000-99,999 474 41,328 10-96 
III 20,000-49,999 1,373 58,174 15-43 
IV 10,000-19,999 1,683 31,866 8-45 
V 5,000-9,999 1,749 15,883 4-21 
VI less than 5,000  424 1,956 0-52 

Source: Census of India-2011 and India 2017, Ministry of Information and 
Broadcasting, Government of India 
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57- fdl oxZ osQ uxj esa vf/dre tula[;k gS\ 

 (a) oxZ I uxj (b) oxZ II uxj 

 (c) oxZ III uxj (d) oxZ IV uxj 
 Which class town has maximum urban population? 
 (a) Class I towns (b) Class II towns 
 (c) Class III towns (d) Class IV towns 
58- oxZ V uxj dh tula[;k dk vkdkj gS & 
 (a) 50,000 – 99,999 (b) 10,000 – 19,999 
 (c) 5,000 – 9,999 (d) 5000 ls de 
 The population size of Class V town is – 
 (a) 50,000 – 99,999 (b) 10,000 – 19,999 
 (c) 5,000 – 9,999 (d) Less than 5000 
59- Hkkjr esa fdrus oxZ&II uxj gSa\ 
 (a) 468 (b) 474 
 (c) 424 (d) 1749 
 How many class II towns are in India. 
 (a) 468 (b) 474 
 (c) 424 (d) 1749 
60- dkSu ls oxZ osQ uxj us lcls vf/d o`f¼ nj (2001&2011) ntZ dh gS\ 

 (a) oxZ I uxj (b) oxZ II uxj 

 (c) oxZ III uxj (d) oxZ IV uxj 
 Which class town registered the maximum growth rate from 2001 to 2011? 
 (a) Class I towns (b) Class II towns 
 (c) Class III towns (d) Class IV towns 


